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1 FH FE 3 yN el N 31 35 66
2T LT B 1 ik PN 34 34 68
2T wnE BE 1 KT 34 34 68
2T =2l KA 4 KIRZF P A F 32 36 68
5T B FE 3 KT 37 32 69
5T INF KA 2 PN TP NEZ 36 33 69
5T TR FIR 2 p el N 35 34 69
5T %Ml &£ 1 AFRIRE 35 34 69
9T Elg &t 2 KR F P K F 35 35 70
9T FI - Kt 1 KFRIKRZFE 35 35 70
9T /NG N = 1 HmAF 34 36 70
12T BwAR T&E 2 PNEA N 38 33 71
12T Ay BEEs 3 KT 37 34 71
127 MR XK 1 RKFRIKRZFE 37 34 71
12T A = 4 Bl Nea 35 36 71
12T A &4 2 PN N 33 38 71
17T Bl KA 2 KBRF A F 37 35 72
17T e R 2 Ealicpaca 37 35 72
17T F o 3 EEARE 37 35 72
17T Hif ME 1 EafipNEZ 35 37 72
21T 2B HE 2 EafigpN=a 40 33 73
21T =i BE 4 K F e A F 39 34 73
21T E F 4 pN el N 38 35 73
21T R EKER 2 HRF 37 36 73
21T iy R 3 KBRF A F 37 36 73
21T T8 &) 2 Vil S e AN 36 37 73
27T FE% R 2 NN 40 34 74
27T s —BX 4 HmAF 39 35 74
27T TR FE 3 AR FBEAZF 38 36 74
21T Eif 1T 1 RIEMLKE 38 36 74
27T Bl BN 3 PN~ NVNE 2 37 37 74
27T BRI =& 2 KR F e A F 37 37 74
27T HE =K 3 FEMLKRE 37 37 74
27T MHE K& 3 BELKREFE 37 37 74
27T TR KB 4 pNEE PN 34 40 74
36T EEY LR 3 pN el N 40 35 75
36T BH Kk 3 FARAS 40 35 75
36T A OE 3 EaliEaly NEa 37 38 75




36T B A 2 VT EE A 35 40 75
40T N 2 VL EEA 40 36 76
40T sH #X 4 PRy N 39 37 76
40T ZH ®» 3 AVA:Ey N 39 37 76
40T BEE K 2 KBRF A 38 38 76
40T IR SR 1 AFHIAZ 38 38 76
40T Fih 1 3 TBRFE AT 37 39 76
40T A B 3 KR Fpr A F 36 40 76
40T 25 Kid 3 KIRF KT 35 41 76
48T BH X 2 KPR EE A F 42 35 77
48T B NE 4 KIRF KT 41 36 77
48T EE F& 2 AVA:E N 40 37 77
48T MHE &z 1 BN 39 38 77
48T Bk B®R 4 PN N 38 39 77
48T )N | 3 KR F PR F 38 39 77
54T HFE EA 3 KR F P K F 40 38 78
54T F O 4 KIRKZF 36 42 78
54T POz EARER 3 Eafis=al i N= 36 42 78
57T BH BRE 2 T RF 40 39 79
57T FH RN 1 V&K F 40 39 79
57T (EZ NN 3 3 W EERF 40 39 79
57T i+ E=—88 2 VEEERTF 40 39 79
57T JRE KZE 1 iR piN= 39 40 79
62T Ki& JEKREB 3 PN N 46 34 80
62T WHE &S 3 K F e A F 46 34 80
62T R EER 1 NN 41 39 80
62T WLl B 4 K F PRk F 40 40 80
62T B K 1 pN el N 40 40 80
67T WE K& 1 TBRlE A 44 37 81
67T e fUFE 2 Eafisf=al i N= 41 40 81
69T KA {EXEB 2 ERgawaNEz 43 40 83
69 T Tk = 4 EafipNEZ 41 42 83
69T =% B 2 K F A F 41 42 83
69T KT HE 1 AR A 40 43 83
73T BE O KEHE 3 THRF 44 40 84
73T FRE 4 KRZF P A F 43 41 84
5T |EA B 1 AFFIRZF 48 37 85
75T T+ BRIE 2 PN PN 41 44 85
7 Rz sEHE 1 BEAKRFE 44 43 87
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